## **GANJAM DEGREE COLLEGE, GANJAM**

# This college offers the following courses in BA/ B.Sc/B.Com.

## **COURSES OFFERED IN BA (HONS)**

- ECONOMICS
- ENGLISH
- HISTORY
- ODIA
- POLITICAL SCIENCE
- PHILOSOPHY

## **COURSES OFFERED IN BSc (HONS)**

- BOTANY
- CHEMISTRY
- MATHEMATICS
- PHYSICS
- ZOOLOGY

## **COURSES OFFERED IN B.Com (HONS)**

COMMERCE

# **COURSE STRUCTURE**

# +3 ARTS / SCIENCE HONS (UNDER COMMON CBCS SYLLABUS SINCE 2019)

Semester	Core Course (Hons)	Ability Enhancement Compulsory Course (AECC)	Ability Enhancement Compulsory Course Skill Based (SEC)	Shacific	Generic Elective (GE)
I	CORE-II	AECC-I M.I.L. / ENGLISH			GE-1 P-1
11	CORE-III	AECC-II Env. Studies			GE-2 P-1
	CORE-IV	Liiv. Studies	CEC 1		
III	CORE-VII		SEC-1 Communicative English and writing skill		GE-1 P-2
	CORE-VIII		SEC-2		GE-2
IV	CORE-IX CORE-X		Subject specific skill		P-2

V	CORE-XI		DSE-1		
	CORE-XII			DSE-2	
VI	CORE-XIII			DSE-3	
	CORE-XIV			DSE-4 (Project)	

**SEC-1**: To be offered by English Department

**SEC-2**: To be offered by the respective Department.

GE-1 & GE-2 To be decided by the College based on Subject.

Example: For Physics (Hons) GE-1 can be Mathematics and GE-2 can be Chemistry in consonance with the existing practice.

## **COURSE STRUCTURE**

+3 COMMERCE HONS (UNDER COMMON CBCS SYLLABUS SINCE 2019)

Semester	Core Course (Hons)	Ability Enhancement Compulsory Course (AECC)	Ability Enhancement Compulsory Course Skill Based (SEC)	Discipline Specific Elective (DSE)	Generic Elective (GE)
1	CORE-I	AECC-I			GE-1
	CORE-II	M.I.L. / ENGLISH			
II	CORE-III	AECC-II			GE-2
	CORE-IV	Env. Studies			
	CORE-V		SEC-1		
III	CORE-VI		Communicative English and writing		GE-3
	CORE-VII		skill		
	CORE-VIII		SEC-2		
IV	CORE-IX		Subject specific skill		GE-4
	CORE-X				
V	CORE-XI			DSE-1	
	CORE-XII			DSE-2	

N/I	CORE-XIII		DSE-3	
VI	CORE-XIV		DSE-4 (Project)	

SEC-1: To be offered by English Department

**SEC-2**: To be offered by the respective Department.

## **MARK DISTRIBUTION**

## **TITLE (ABBREVIATED), MARKS, AND CREDITS**

TITLE	MARKS	CREDITS FOR PRACTICAL SUBJECTS	CREDITS (OTHERS)
	ARTS/SCIENCE/ COMMERCE	SCIENCE / ARTS WITH PRACTICAL	ARTS (OTHERS)/ COMMERCE
CORE SUBJECTS	1400 (14 X 100)	84 = Theory 56 (14 X 4) + Practical 28 (14 X 2)	84 = Theory 70 (14 X 5) +Tutorial 14 (14 X 1)

GE	400 ( 4 X 100)	24 = Theory 16 (4 X 4 ) + Practical 8 ( 4 X 2)	24 = Theory 20 ( 4 X 5) + Tutorial ( 4 X 1)
AECC I	100 (2 X 50)	4 (2 x 2)	4 (2 X 2 )
AECC II	100 ( 2 X 50)	4 ( 2 X 2 )	4 ( 2 X 2 )
DSE I, II, III	300 ( 3 X 100)	18 = Theory 12 (3 X 4) + Practical 6 ( 3 X 2 )	18 = Theory 12 (3 X 4) + Tutorial 6 ( 3 X 2 )
DSE Project	100	6	6
TOTAL	2400	140	140

Subjects with Practical: Theory - 75 Marks (Mid Semester 15 marks + End Semester 60 marks) and Practical - 25 marks

**Subjects without Practical:** 100 Marks ( Mid Semester 20 marks + End Semester 80 marks

TITLE	MARKS	CREDITS	CREDITS
	ARTS/SCIENTCE /COMMERCE	SC/ARTS (PR)	ARTS / COMMERCE
CORE COURSES (HONS)	1400 (14 X 100)	84= 56-Th (14 x 4) + pr 28 (14 x 2)	84=70 th (14 x 5) + TUT 14 (14 X 1)
GENERIC ELECTIVE	400 (4 X 100)	24 = 16 TH (4 x 4 ) + PR	24 = 20 - TH (4 x 5 ) +
ABILITY ENHANCEMENT COMPULSORY COURSE (A.E.C.C)	100 ( 2 X 50)	4 = (2 X 2)	4 = (2 X 2)
ABILITY	100 (2 X 50)	4 = (2 X 2)	4 = (2 X 2)

DISCIPLINE SPECIFIC ELECTIVE (D.S.E)	300 (3 X 100)	18 = 12-TH (3 X 4) + PR 6 (3 X 2)	18 = 12-TH (3 X 4 ) + TUT 6 (3 X2)
D.S.E (PROJECT)	100	6	6
TOTAL	2400 MARKS	140 CREDITS	140 CREDITS

# **Question Pattern Under Common CBCS Syllabus for +3 Students**

- SUBJECT WITH PRACTICAL" THEORY 75 MARKS, PRACTICAL 25 MARKS
- MID SEMESTER THEORY 15 MARKS, END SEMESTER THEORY 60 MARKS
- SUBJECT WITHOUT PRACTICAL: 100 MARKS
- MID SEMESTER THEORY 20 MARKS, END SEMESTER 80 MARKS
- SUBJECT WITH PRACTICAL: THEORY 40 CLASSES & PRACTICAL 20 CLASSES (60 PERIODS)
- SUBJECT WITHOUT PRACTICAL: THEORY 50 CLASSES & TUTORIAL 10 CLASSES